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(1) B(r,t) =V x A(r,t)

J0000V-B(r,t)=000000000000(@O0000
O00)A(r,)0 0000000000 D0000(@0O: Wh/mO)
00 V-B(r,t)=000 B(r,t)=VxA(r,t) 000000000
(COO0DODO00Dn)

) A(r,t) = 3}/ B.(2',y, z,t)dx’
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+Z [/ Bm(:zjo,y’,z,t)dy’—/ B,(z',y, z, t)da’
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0B(r,t)

(3) V x E(r,t)+ oy = ()
oooooo
@ — (E(r,t)+aA(r’t)> _0

ot
0(1.1.28)00 (1.1.290 00000000 oood
(5) E(r,t)+aA(§:’t) = —Vo(r,t)

O00000¢(r,t) 0D DO000DOO0OOOOOODOO VO
HRERERNREEN

0A(r,t)
ot

(6) E(r.t) = —Vo¢(r,t)—
(7) B(r,t) = V x A(r,t).
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(8) E(r) = —Vo(r),
(9) B(r) = VXxA(r).

V.-D(r)=p(r)000

(10) —V -Vo(r) = %:).

(11) N=V-V OO00000 (Laplacian)
U000

(12) Ag(r) = AT

000V x H(r)=4(r)000

(13) V xV x A(r) = pot(r).



(14) VxVxA=V(V-A)-AA
Noooo@ooooon)

(15) V(V-A(r)) — ANA(r) = poi(r).
D0o00ooooo@uooo)yboood

(16) A(r) — A'(r) = A(r) + Vu(r)
w(r)DODODODDOODOOODOO0OO0O0)DDOODOO

(17) B(r) — B'(r) = V x A'(r)
= VX A(r)+V xVu(r) = B(r).

OodoooBUO0OODO AU00DUOO0DLOUOOOOoOoooOn
Joooon

000 (15010000 Ay(r)0000



(18) Ax(r)+V-Ay(r)=0
000000 x(-)OODOD0ODO (e)00boobDod

(19) Ag(r) = A.(r) = Ao(r) + V(7).
HRERNEN

(20) V- A=V - Ay+V - Vx=V - A+ Ax=0.
A,00 (50000000 (15)0 0

(21) NA(r) = —pet(r), V- -A.=0.

O00A. 000 ,.0000
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(22) Ap(r) = _or) ,

€0
(23) NA(r) = —pei(r), V-A=0.

o(r)0 A(r)0(OD0OOOD0DOO0)ODDOO0OODOOODOOOOO
OO0O000 (Poisson)0 00 OOoOdO
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